December 04, 2014

1. Determine the measure of the missing interior angle.

. Find sum of nferior 0«"3\<$
Sum: (1-9) ><\?50°
2 ¢d- oy
= 900-159-147- 13- |44 - T3-(50
- 9g°

2. Determine ’rhe\;neasur'e of a 13-gon.
(nderior

S (13-2)x[80
* 1Ix |30
S 19%D°
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3. Determine the measure of the missing angle.

C
120"107 D
a

[ Fmo! sum of inferor angles.
Sg= (5-0)xI0

< Sy
asd"@%rioE

“ B S40-41-10-107-m3
=gy
3. Solve for Ze.
<e=[30-92°
= %70

4. Determine the value of x.

Cl) % % b) 14 cm
10 cm 35 cm

_ X=(4+25) =
xpaa GED™

" Sem = At Scm
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5. Determine the measure of x.

a) <::> b) 690

47

S.F (G‘Q\BM%OO
= 20 <Y=180 - 67-42.
X= 720 = 09
.. “X= 1305
D’ = || (0 !

Test Review: p. 398 #lace, 2ac, 4ac
p. 418 - 419 #4,5, 15
p. 420 #3,7




4¢= YO PN

<d= [§D-42-3
= Aq

December 04, 2014



	Page 1
	Page 2
	Page 3
	Page 4

